
 

A–324/MEC–008 P. T. O. 

No. of Printed Pages : 6 MEC–008 

M. A. (ECONOMICS) (MEC)  

Term-End Examination 

June, 2025 

MEC-008 : ECONOMICS OF SOCIAL SECTOR 

AND ENVIRONMENT  

Time : 3 Hours  Maximum Marks : 100 

Note : Answer questions from both the Sections 

as per instructions. 

 Section—A  

Note : Answer any two questions from this 

Section in about 700 words each. 2×20=40 

1. (a) Discuss the major departures of 

Institutional Economics from Neo-

classical Economics. 

(b) Bring out the important differences 

between Old Institutional Economics 

and New Institutional Economics. 
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2. Explain why valuation of environmental 

impact is important. Discuss the important 

tools available in the literature for its 

valuation. 

3. Bring out the significance of education to 

economic development. Discuss the cash 

benefit approach to measure the economic 

value of education. 

4. Explain the nexus between poverty and 

environment. How can this nexus be broken 

up ? 

 Section—B  

Note : Answer any five questions from this 

Section in about 400 words each. 5×12=60 

5. Critically examine the environmental 

policies of India to control air pollution. 

6. Discuss the major policy instruments 

available for regulation of monopoly. 

7. Explain the main reasons for market failure 

in an economy. What are its economic 

consequences ? 
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8. Critically examine the techniques of 

manpower forecasting. 

9. Explain how the demand for healthcare gets 

influenced in the presence of health 

insurance. 

10. Explain the Barker’s in-utero hypothesis. 

Why is it important for achieving better 

health status of a community ? 

11. Explain the concept of joint forest 

management and its relevance to Indian 

economy. 

12. Write short notes on the following : 

(a) Carbon Emission Trading 

(b) Millennium Development Goals 
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,e- ,- (vFkZ'kkL=) (,e- bZ- lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-&008 % lkekftd {ks= vkSj i;kZoj.k dk 

vFkZ'kkL= 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % nksuksa Hkkxksa ls ;FkkfunsZ'k iz'uksa ds mÙkj fyf[k,A 

 Hkkx&d  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj yxHkx 700 'kCnksa 

(izR;sd) esa fyf[k,A  2×20=40 

1- (d) uo&'kkL=h; vFkZ'kkL= ls laLFkkRed vFkZ'kkL= ds 

izeq[k fnXorZuksa ij ppkZ dhft,A 

([k) iqjkru laLFkkRed vFkZ'kkL= ls uo laLFkkRed 

vFkZ'kkL= ds eq[; vUrj dks Li"V dhft,A 
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2- O;k[;k dhft, fd i;kZ&izHkko dk ewY;kadu D;ksa egRoiw.kZ 

gSA bl ewY;kadu ds fy, lkfgR; esa lqyHk egRoiw.kZ 

miLdjksa ij ppkZ dhft,A 

3- vkfFkZd fodkl ds fy, f'k{kk ds egRo dk Li"V fu:i.k 

dhft,A f'k{kk ds vkfFkZd ewY;eku ds ekiu ds fy, 

udn&fgrykHk n`f"Vdks.k ij ppkZ dhft,A 

4- xjhch vkSj i;kZoj.k ds chp nqjfHklaf/k dh O;k[;k 

dhft,A bls fdl izdkj Hkax fd;k tk ldrk gS \ 

 Hkkx&[k  

uksV % bl Hkkx ls fdUgha ik¡p iz'uksa ds mÙkj yxHkx 400 'kCnksa 

(izR;sd) esa fyf[k,A  5×12=60 

5- ok;q iznw"k.k ds fu;a=.k gsrq Hkkjr dh i;kZ&uhfr;ksa dh 

leh{kk dhft,A 

6- ,dkf/kdkj ds fu;a=.k gsrq lqyHk uhfrxr miLdjksa ij ppkZ 

dhft,A 
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7- fdlh vFkZO;oLFkk esa cktkj dh foQyrk ds eq[; dkj.kksa 

ij ppkZ dhft,A blds vkfFkZd ifj.kke D;k gksrs gSa \ 

8- tu'kfDr iwokZdyu dh rduhdksa dh leh{kk dhft,A 

9- O;k[;k dhft, fd LokLF; chek dh mifLFkfr esa LokLF; 

ifjp;kZ dh ek¡x fdl izdkj izHkkfor gksrh gSA 

10- ckdZj dh ^xHkkZoLFkk* ladYiuk dh O;k[;k dhft,A ;g 

fdlh leqnk; esa csgrj LoLFkrk fLFkfr dh izkfIr ds fy, 

fdl izdkj egRoiw.kZ gS \ 

11- la;qDr ou izca/ku dh ladYiuk vkSj Hkkjrh; vFkZO;oLFkk 

esa bldh lkFkZdrk dh O;k[;k dhft,A 

12- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 

(d) dkcZu mRltZu O;kikj 

([k) lgL=kfCn fodkl y{; 

× × × × × 

 


